EARAROBEEIERT — 2 N— IBISH —F

20124E3H240 (L) 2EIBR#1H

m#3%4ﬁi 500ATF U[UET] & ‘ (%] & ‘ [RErE] - |2 (&) 22000 £
[A&4£] 1 7% :7,200,000 @ 23 :2,900,000 @ 33 :1,800,000 . 43 :1,100,000 @ 5 j& :720,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
: 4 4 | EHEER 2:19.4 5-5-5-6 | 36.5| — 3 466 |BEFF (ER)
1| 4| BNIVZ 54.0 =) (+a) | EBET
R:TFGAT X84 L B:JL—ATFRIAF J—HrTy—LA
S 4 6 | EERMAETT 2:19.5 1-1-1-1 | 37.9| — 1| 470 | AT (FEF)
2 1 F—=a—4y k 57.0 ’ (3/4) 0 ?g) Yrr—L—v2J
L:d—IWRT7Y2—)b B:f>F7JL—b BRT7— L
Soa g N JETERS : ~11-8- - REEZEE ()
3 5 SLRYS 5Lk 44 o 2.(230).0 11-11-8-9 | 36.8 13 (5124) :/‘/:r:u&ét%
VUK YIYRIR BRA— bRTFANG P UL e
7 5 H o5 | REBC 2:20.1 7-1-5-5 | 37.2| — 1 518 |BE—5 (RR)
sfd 8| ¥ALTF AT v — 57.0 (1/2) (-a) |BEERF
R:v>Ny&>H7r B:vabka-5> HO &k
5 K 44 | EPR 2:20.3 4-4-3-3 |37.7| — 4 44 | RNEZ (EH)
5|7|11| X T>¥avRE—F 56.0 11/ Cay | AT
R:AFAT—ILK B:XE—FKYzo =e)
- R SR — -90. 0 . — MBS (ExR)
6 0| 8H /1R i 5 b 2(210)5 3-3-3-3 | 37.9 8 (5&8) M(ga
L:viNnygeh7r By RT7z7)— RIS B
SO s ft 5 | EEE= 2:20.5 5-5-5-6 |37.6| — 10 | 474 | WLABIZ (E3R)
7|5|6|¥27IET> 55.0 (74%) G2) | R ESHTU—g-XazF
R:T7VxEE BFHU-— =T Ui
“ # o5 | ESHA 2:20.5 2-2-2-2 [38.8| — 9 522 | ZEHE (RR)
EH 3| E—Lv [B] 57.0 (7E) Lo |1EEE—
R:xLThANAN B:Ey hEHUT kel
. R |1 B :20. -11-8- . — HREEE (EX)
9lglin 7R ¥H—U> o4 L 2(210)7 11-11-8-8 | 37.6 5 (4_628) ﬁﬁﬁu—
LiFA =TT N BRT Yy hFFA R J—HrIr—L
N R S o4 | dtRR— 2:21.0 9-8-8-12 | 37.7| — 6 486 | FITAItL ()
10l 13| T/V7 4 /30 —2 6.0 (1 3/ o) |HEER
R:F4—TA4>7 b B:T77—WH H—L— - JvIN> - Ty— LBERS
N g 4 o4 | E=REH 2:21.1 13-13-12-12| 37.6 | — 7 460 | IEILIBHE (RR)
1|57 | 7LN=F>7 6.0 U o |
XD ThANAN B:EF14—-)L EEae]
SV > 4 | MEBEZ 2:21.1 7-8-8-9 |37.9| — 12 440 | NIHEE (ER)
EH g|AVTAX>Y 4 %0 Gra=s) o |EmEEE
R:t>r/nJAd4 B:H¥yyHForqa EZX 2V K
W - # o4 | N EXF 2:21.3 9-8-12-9 |38.0| — 2 438 | AREBE (ER)
1317l10| ¥/ >¥7x2=v 7R 56.0 ) © #) 4/ 902
RixA1=Tr7—2 BNIv— J—HrTy—LA
@ 71 L
) 50.5-37.8
NO> &4 L | 12.9-11.6-12.3-13.6-12.9-12.8-12.8-12.7-12.5-12.3-13.0
@ 1—F—@&BIEf
=="F= 1-3-2,11(4,6) (9,8) (10,13) (5,12)7
2al=5F= 1,3=2,11(4,6)8(9,10,13)-(5,12)7
30—4— 1,3=(2,11)-(4,6,8) (5,12,9,13) (10,7)
43—F— (x1,3)-(2,11)8(4,6)12(5,9,10) (7,13)
[ RN
BB 4 490HM 714K 1-4 3,140 e E 1-4 10,520M 3EE 1-4-5 324,320
8 B 4 250M 4-5 10,530 B & 1-4 10,020M 3B 4-1-5 984,960M
1 770MH 1-5 25,150H B H 4-1 14,830M
5 4,170

ABICOVWTRDTEEERROODE. TR LIV,




